4002 Energy consumption per 1m?® transmission input (M-J/ms)

Energy consumption per 1m? transmission input = Total energy consumption[MJ]
/ Annual transmission input[m?3] (MJ/m?)
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4002 Energy consumption per 1m? transmission input (MJ/m?)
[Percentile Value] Water Utility
Fiscal year
F.Y. 95% 75% 50% 25% 5%
2008 3.67 2.34 1.63 0.91 0.20
2009 3.77 2.34 1.63 0.89 0.19
2010 3.71 2.38 1.62 0.91 0.20
2011 3.83 2.36 1.59 0.90 0.20
2012 3.92 2.38 1.61 0.91 0.20
Population supplied (F.Y.2012)
People| 95% 75% 50% 25% 5%
<=1 6.36 3.09 2.06 1.10 0.19
1-3 3.57 2.60 1.76 0.91 0.17
3-10 2.99 2.06 1.54 0.98 0.26
10-50 2.31 1.65 1.15 0.79 0.21
50< 2.03 1.51 1.07 0.58 0.40
X 10,000people
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